SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class — 9th (Assignment)
Date — 03.09.2025

Instructions:
Dear Students,
We are sending you Homework. You have to solve this work in your notebook in a neat and

clean way. You have to submit this work after the opening of school to your Subject Teacher.
Subject-English

All questions carries 3 marks.

1. How do the expressions bicker down, hurry down, slip between ridges, chatter, chatter help in creating the
image of the young river? (The Brook)

2.What did Harold ask his father to do for him? What for?

3. John is a hypocrite. Substantiate this statement. Do you agree?

4. What did the narrator and his friend Trower see when they were returning from the canteen? Answer to
the context of the chapter The Man Who Knew Too Much.

5. Describe the two roads that the poet comes across.

6. Which road does the speaker choose? Why did he choose that?

7. Do you think that the poet feels overwhelmed by the song of the Solitary Reaper? Why/Why not?

Subject -Hindi
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Subject: Mathematics

Q1. an a triangle have two obtuse angles? Give the reason for your answer. (2 marks)
Solution: No, a triangle cannot have two obtuse angles.

Reason: An obtuse angle is one that is greater than 90° .The sum of all angles in a triangle is 180°.If a triangle
had two obtuse angles, then each would be greater than 180°. Adding just those two would already exceed,
leaving no room for the third angle. Therefore, a triangle can have at most one obtuse angle.

Q2. Can a triangle have all angles less than 60°? Give a reason for your answer. (2 marks)
Q3. Find the cost of laying grass in a triangular field of sides 50 m, 65 m and 65 m at the rate of Rs 7 per m°.
(3 marks)

Solution: According to the question,

Sides of the triangular field are 50 m, 65 m and 65 m.
Cost of laying grass in a triangular field = Rs 7 per m2
Leta=50,b=65,c=65

a+b+c
2
50 + 65+ 65
28§ =—
_ 180
2
=90.

Area of triangle = \/s(s —a)(s—b)(s—0)
=,/90(90 — 50)(90 — 65)(90 — 65)

= 1500m?
Cost of laying grass = Area of triangle xCost per m?
= 1500x7
=Rs.10500
Q4. Find the cost of laying grass in a triangular field of sides 10m, 13 m and 15 m at the rate of Rs 10 per
m?, (3 marks)
Q5.Draw a histogram for the following data distribution: (5 marks)
Data Interval Frequency
0-10 5
10-20 15
20-30 10
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Answer the following questions:
(1) What is the total data points?
(i1))  Find out which interval has the highest frequency.
(i1i))  Which interval has the lowest frequency?
Solution:
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(1) Total data points = sum of all the frequencies. Hence the total data points will be = 5+15+10+5= 35.
(i1) The interval (10-20) has the highest frequency of 15.
(ii1)) The interval (0-10) & (30-40) have the lowest frequency of 5.

Q6. Draw a histogram for the following data distribution: (5 marks)
Data Interval Frequency
0-10 10
10-20 30
20-30 20
30-40 5
Answer the following questions:
1. What is the total data points?
2. Find out which interval has the highest frequency.
3. Which interval has the lowest frequency?
Subject -Science
1. What would happen to a cell’s life if it didn’t have a Golgi apparatus? (3 Marks)

Ans/hint: All aspects of preservation, modification, packaging, and storage of products in particles fall under
the purview of the Golgi apparatus. Without the Golgi apparatus, all storage, modification, packaging, and
dispatching of materials within and outside the cell would be impossible.

2. What organelle is the cell’s powerhouse? Why? (3 Marks)
Ans/hint: During respiration, the cell’s Mitochondria synthesize energy in the form of ATP, which is vital for
many living processes.

3. Where are the proteins and lipids that make up the cell membrane? (3 Marks)
Ans/hint . There are two types of the endoplasmic retina:

(1) The smooth endoplasmic reticulum (SER) is responsible for producing the lipids that make the cell
membrane.

(i1) The rough endoplasmic retina (RER) houses the ribosomes and is responsible for producing the proteins
that make up cell membranes.

4. How is a prokaryotic cell different from a eukaryotic cell? (3 Marks)
Ans: Prokaryotic cells are unicellular, while eukaryotic cells are multicellular. 2) Prokaryotic cells have one
membrane, while eukaryotic cells have two membranes. 3) Prokaryotic cell is a bacterium, while a
eukaryotic cell is an organism consisting of many cells.

5. How is an animal cell different from a plant cell? (3 Marks)
Ans/hint- cell wall , vacuoles ,




Subject Social- Science
Answer the following questions in 60-100 words.

1.Describe any three values or goals of the Indian Constitution included in the Preamble. (3 Marks)

2.Define unemployment. Write the major four types of Unemployment prevailing in India. (3 Marks)

3.Suggest any three measures in the education system to mitigate the problem of the educated unemployed.
(3 Marks)

4.“Poverty is a curse upon humanity.” Analyse the statement. (3 Marks)




